
Top handle for PMW-F5/55

0350-1100
Version Date: 10-6-2013 9:22

Vocas Systems b.v. info@vocas.com www.vocas.com Pag: 1/1

Item No. Part Numbe Qty Description

1 04.084.01 4 Camera screw 1/4" UNC, 1/2" long

2 11.025.02 1 Cheese plate F5/55

3 11.030.01 1 Viewfinder adapter dove tail

4 04.090.01 1 Screw UNC 1/4"X 3/8" C1936 A2

5 07.213.01 2 Pin 2h6x6 DIN6325 St

6 11.031.01 1 Viewfinder adapter slider

7 11.032.01 1 Viewfinder adapter coupling nut

8 11.020.02 1 Top handle

9 04.038.01 4 Screw 2,9x9.5 DIN7982 ST ZN Z

10 11.021.02 1 Top handle inlay

11 11.022.02 1 Top handle bracket

12 02.007.02 2 Camera screw 1/4 UNC"

13 768001 1 Screw M5x16 DIN 912 A2 70

14 09.005.01 2 screw M5X20 DIN 912 12.9 Zn

15 99.036.02 1 Sub assy Clamping block side ways with winged n...

16 0350-9235 2 Pipe 235 mm.

14 97

15

16

2

13 11

12

8

10

1

4 3 6


